TR

AYA E I—III§II E X = 3 —1 O ==

1| £5 71 51 M R U o FHER (TIIHRE) 5O
YIS A BR B B R bR

7 \

iitgzlﬂigi%$%ﬁﬁﬁlz-§ﬁﬁ:
= " M—w w15 3w  BES®

\ -
oL 3 By 1 5 = 3_2_ -| —I

%‘Bﬁiﬁﬁiﬁ%ﬁﬂﬁiﬂﬂﬁﬂ‘&ﬁmm é

e () S gy
10" ///////////I//II/ MEWHET DY ST 1)
Om =

A A A A A A A+ A
BB /RN 20m 3:2-10" 7%

A A A A A - T

A

I"
A A A "I"

I""',
24
A 7

. 859, L, ol
zAmA A a A15MA ZE‘%]
e N S S N e T

YR EE

A A

A A A A

84. 4 A A A A A A A A A
R ERE SR EAR

Y P

% | m
FL %l A | (ha)
1:2,500 ‘ :
e ErE IS EHE X . D | o1 Ul e
J:Eg;ﬁzjﬁiﬂ_;tgj J:E""BHK-E‘-BEMM
0 25 50 75 100 A A A 200 |HER: AFE= qﬂﬁﬁ:?f#ﬂﬁlz @) (m?{?)ﬁﬁ% 80% | 500% | 7L | Bhk | O | iEE5| 80% | 300% | 31| #Rik| O
I T 1m Losss TE&:E%&% " X - = il
B @ |, 20w | oov | 008 | 37 bk O |m| 0% | S00% | BU| Bk | O

COMRIE, FRMAMEDKDEZ(IT. RRHBMER 2507 Q1R EFALTHERLEZLEDTHS, (RRBES) 6HHEREE21S
(RBES) 6 MM ARMEIS, FM6F5A7H (RBHES) 6 MMARRESTS ., FM6FE6A 140



